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x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”l/4428|��������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”l/8269|��/�������/�� x-morph=”OSHM:HR/Ncmpc/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”l/3548|��/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp3fs”
x-cantillationLevel=”0.0” strong=”c/l/5971|����/��/�� a” x-morph=”OSHM:HC/R/Ncmsc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0”�
19 strong=”c/3898|����������/�� a” x-morph=”OSHM:HC/VNq3cp” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”����������|strong=”3201” x-morph=”OSHM:HVqi3mp”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���/������|strong=”854” x-morph=”OSHM:HR/Sp2ms”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/5337|��/���������/��
x-morph=”OSHM:HR/Vhc/Sp2ms” x-cantillationLevel=”0”� �2 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”1697|�����

x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”

”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0”�
2 ”strong=”1980|������� x-morph=”OSHM:HVqa” x-cantillationLevel=”1.2.1.1”
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”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqq2ms” ”strong=”b/241|��������/��
x-morph=”OSHM:HR/Ncfdc” 3 We read one or more accents in L differently
than BHS. Often this notation indicates a typographical error in BHS. ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.2.1” ”strong=”3541|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”559|������ x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”2142|����������� x-morph=”OSHM:HVqp1cs”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.0”
strong=”2617|������ a” x-morph=”OSHM:HNcmsc” strong=”5271|��/����������
a” x-morph=”OSHM:HNcbpc/Sp2fs” x-cantillationLevel=”1.1” ”strong=”160|��������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”1.0” ”strong=”3623|��/�������������
x-morph=”OSHM:HNcfpc/Sp2fs” x-cantillationLevel=”1” ”strong=”3212|��/��������
x-morph=”OSHM:HVqc/Sp2fs” strong=”310|��/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”b/4057|����������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2232|���������
x-morph=”OSHM:HVqsfsa” x-cantillationLevel=”0”� 3 ”strong=”6944|�������
x-morph=”OSHM:HNcmsa” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” ”strong=”7225|��������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”8393|�/����������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1” 4 We have abandoned or added a ketib/qere relative
to BHS. In doing this we agree with L against BHS. ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”�/���������|strong=”398” x-morph=”OSHM:HVqrmpc/Sp3ms”
”strong=”816|����������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1”
strong=”7451|������ c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0”
”strong=”935|������� x-morph=”OSHM:HVqi3fs” ”strong=”413|����/�����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 4 ”strong=”8085|��������� x-morph=”OSHM:HVqv2mp”
”strong=”1697|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”1004|������ b”
x-morph=”OSHM:HNcmsc” ”strong=”3290|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc”��������������|strong=”4940”
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.0” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 5 ”strong=”3541|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.1.1.0” � ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”4100|��� x-morph=”OSHM:HTi”����������|strong=”4672” x-
morph=”OSHM:HVqp3cp” ”strong=”1|����/�������� x-morph=”OSHM:HNcmpc/Sp2mp”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1.0”

3c
4q
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strong=”5766|������ a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1”
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a” x-morph=”OSHM:HR/R/Sp1cs” x-cantillationLevel=”1” ”strong=”c/3212|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0.0” strong=”310|��������
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”strong=”346|������� x-morph=”OSHM:HTi” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”d/5927|���������/��
x-morph=”OSHM:HTd/Vhrmsa” ”strong=”853|���/����� x-morph=”OSHM:HTo/Sp1cp”
x-cantillationLevel=”1.0” ”strong=”m/776|������/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4714|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”d/3212|����������/�� x-morph=”OSHM:HTd/Vhrmsa” ”strong=”853|���/�����
x-morph=”OSHM:HTo/Sp1cp” x-cantillationLevel=”0.2.2.0” strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.2.2” ”strong=”b/776|������/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”6160|�������� x-morph=”OSHM:HNcfsa”
”strong=”c/7745|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.2.1”
”strong=”b/776|�������/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”0.2.0”
”strong=”6723|������� x-morph=”OSHM:HNcfsa” ”strong=”c/6757|����������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2” ”strong=”b/776|������/���
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”0.1.1” ”strong=”3808|����
x-morph=”OSHM:HTn”�������|strong=”5674 a” x-morph=”OSHM:HVqp3ms”
”strong=”b|���/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”��������|strong=”3427”
x-morph=”OSHM:HVqp3ms” ”strong=”120|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”8033|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 7 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vhw1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776” x-morph=”OSHM:HNcbsc”
”strong=”d/3759|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”l/398|������/�� x-morph=”OSHM:HR/Vqc” ”strong=”6529|��/��������
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”c/2898|��/������/��
x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vqw2mp” x-cantillationLevel=”0.1.0” strong=”c/2930|������������/��
a” x-morph=”OSHM:HC/Vpw2mp” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”776”
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”c/5159|�/���������/��
x-morph=”OSHM:HC/Ncfsc/Sp1cs” strong=”7760|���������� a” x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”0.0” ”strong=”l/8441|���������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0”� 8 ”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”559|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.0” ”strong=”346|�������
x-morph=”OSHM:HTi” ”strong=”3068|������� x-morph=”OSHM:HNp” x-
cantillationLevel=”1.2” ”strong=”c/8610|���������/�� x-morph=”OSHM:HC/Vqrmpc”
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”strong=”d/8451|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3045|���/��������
x-morph=”OSHM:HVqp3cp/Sp1cs” x-cantillationLevel=”1.1” strong=”c/d/7462|�������/��/��
b” x-morph=”OSHM:HC/Td/Vqrmpa” x-cantillationLevel=”1.0” ”strong=”6586|����������
x-morph=”OSHM:HVqp3cp” ”strong=”b|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/d/5030|�����������/��/�� x-morph=”OSHM:HC/Td/Ncmpa”
x-cantillationLevel=”0.1.0” ”strong=”5012|��������� x-morph=”OSHM:HVNp3cp”
strong=”b/1168|�������/�� a” x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0.1”
strong=”c/310|��������/�� a” x-morph=”OSHM:HC/R” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”3276” x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”0.0” ”strong=”1980|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 9 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.0.1” ”strong=”5750|���� x-morph=”OSHM:HD” x-
cantillationLevel=”1.0.0” ”strong=”7378|������� x-morph=”OSHM:HVqi1cs”
”strong=”854|����/����� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/854|���/�� x-
morph=”OSHM:HC/R”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
strong=”1121|����/����� a” x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.0”
”strong=”7378|������� x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”�
10 strong=”3588|����� a” x-morph=”OSHM:HC” strong=”5674|��������
a” x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.1.0.0” ”strong=”339|�������
x-morph=”OSHM:HNcmpc” ”strong=”3794|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”1.1” ”strong=”c/6938|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.0.0” ”strong=”7971|��������� x-morph=”OSHM:HVqv2mp”
”strong=”c/995|���������������/�� x-morph=”OSHM:HC/Vrv2mp” x-
cantillationLevel=”1.0” ”strong=”3966|������ x-morph=”OSHM:HD” x-
cantillationLevel=”1” ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”0.1” ”strong=”2005|���� x-morph=”OSHM:HTm” ”strong=”1961|��������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0” ”strong=”k/2063|�����/���
x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”0”� 11 ”strong=”d/4171|��������/��
x-morph=”OSHM:HTi/Vhp3ms” strong=”1471|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” ”strong=”c/1992|�������/�� x-morph=”OSHM:HC/Pp3mp”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” strong=”c/5971|�/������/��
a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-cantillationLevel=”0.0.0” ”strong=”4171|�������
x-morph=”OSHM:HVhp3ms” ”strong=”3519|��/�������� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/3808|�����/��� x-morph=”OSHM:HR/Tn”
”strong=”3276|�������� x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”0”�
12 ”strong=”8074|�������� x-morph=”OSHM:HVqv2mp” ”strong=”8064|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”������|strong=”2063” x-morph=”OSHM:HPdxfs” x-
cantillationLevel=”1” strong=”c/8175|���������/�� a” x-morph=”OSHM:HC/Vqv2mp”
x-cantillationLevel=”0.0.0” strong=”2717|�������� b” x-morph=”OSHM:HVqv2mp”
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”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 13 strong=”3588|����� a” x-morph=”OSHM:HC”�����������|strong=”8147”
x-morph=”OSHM:HAcfda” strong=”7451|������� c” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.0” strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs” strong=”5800|��������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.2.1.1” ”strong=”4726|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.2.1.0” � ”strong=”4325|������
x-morph=”OSHM:HNcmpa” strong=”2416|�������� a” x-morph=”OSHM:HAampa”
x-cantillationLevel=”0.2.1” ”strong=”l/2672|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.2.0”
”strong=”877|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2”
”strong=”877|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
”strong=”7665|������������� x-morph=”OSHM:HVNsmpa” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|��� x-
morph=”OSHM:HTn”���������|strong=”3557” x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”0.0” ”strong=”d/4325|�������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 14 ”strong=”i/5650|�������/�� x-morph=”OSHM:HTi/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”��������|strong=”3211”
x-morph=”OSHM:HNcmsc” strong=”1004|������� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1” ”strong=”4069|��������� x-morph=”OSHM:HTi”
x-cantillationLevel=”0.0” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
”strong=”l/957|����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
15 strong=”5921|��/����� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”7580|����������� x-morph=”OSHM:HVqi3mp” strong=”3715|���������
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” ”strong=”5414|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” strong=”6963|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/7896|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”776|���/����� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/8047|��������/�� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.1” strong=”5892|�/������ b” x-morph=”OSHM:HNcfpc/Sp3ms”
”strong=”3341|���� x-morph=”OSHM:HVNp3fs” x-wType=”x-ketiv” 5 ”strong=”m/1097|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3427|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 16 ”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”1121
a” x-morph=”OSHM:HNcmpc”�����|strong=”5297” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/8471|�����/� x-morph=”OSHM:HC/Np”
x-wType=”x-ketiv” 6 strong=”7462|��/�������� b” x-morph=”OSHM:HVqi3mp/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”6936|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 17 ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”������|strong=”2063”
5+ ”strong=”3341|������������� x-morph=”OSHM:HVNp3cp” x-

cantillationLevel=”0.0”
6+ ”strong=”c/8471|�������������/�������/� x-morph=”OSHM:HC/Np” x-

cantillationLevel=”1”
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x-morph=”OSHM:HPdxfs” x-cantillationLevel=”1.0” strong=”6213|���������
a” x-morph=”OSHM:HVqi2ms”��/�����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1” strong=”5800|���/������ a” x-morph=”OSHM:HVqc/Sp2fs”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”430|��/��������� x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”b/6256|����/��� x-morph=”OSHM:HR/Ncbsc”
x-cantillationLevel=”0.0” ”strong=”3212|��/��������� x-morph=”OSHM:HVhrmsc/Sp2fs”
”strong=”b/1870|��������/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
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x-cantillationLevel=”1.1.0” ”strong=”4672|���������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”1.1” ”strong=”1818|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0.0” ”strong=”5315|���������� x-morph=”OSHM:HNcbpc”
”strong=”34|������������ x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
strong=”5355|���������� a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
”strong=”3808|���� x-morph=”OSHM:HTn”������������/���|strong=”b/4290”
x-morph=”OSHM:HRd/Ncfsa” ”strong=”4672|�/��������� x-morph=”OSHM:HVqp2fs/Sp3mp”

11+ ”strong=”3925|���������������� x-morph=”OSHM:HVpp1cs” x-
cantillationLevel=”0.0”
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x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”0”� 35 ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw2fs” x-cantillationLevel=”1.1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5352|���������� x-morph=”OSHM:HVNp1cs”
x-cantillationLevel=”1.1” ”strong=”389|����� x-morph=”OSHM:HTa” x-
cantillationLevel=”1.0.0” ”strong=”7725|����� x-morph=”OSHM:HVqp3ms”
”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1”
”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”8199|���������� x-morph=”OSHM:HVNrmsa” ”strong=”853|��/������
x-morph=”OSHM:HTo/Sp2fs” x-cantillationLevel=”0.1” strong=”5921|���
a” x-morph=”OSHM:HR”��/��������|strong=”559” x-morph=”OSHM:HVqc/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2398|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0”� 36 ”strong=”4100|���
x-morph=”OSHM:HTi”����������|strong=”235” x-morph=”OSHM:HVqi2fs”
”strong=”3966|������ x-morph=”OSHM:HD” x-cantillationLevel=”1.0” strong=”l/8138|���������/��
a” x-morph=”OSHM:HR/Vpc” ”strong=”853|��� x-morph=”OSHM:HTo”��/����������|strong=”1870”
x-morph=”OSHM:HNcbsc/Sp2fs” x-cantillationLevel=”1” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”m/4714|������������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” ”strong=”954|����������� x-morph=”OSHM:HVqi2fs”
x-cantillationLevel=”0.1” strong=”k/834|������/��� d” x-morph=”OSHM:HR/Tr”�����������|strong=”954”
x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”0.0” ”strong=”m/804|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 37 ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”m/854|����/�� x-morph=”OSHM:HR/R”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.1.0”
”strong=”3318|���������� x-morph=”OSHM:HVqi2fs” x-cantillationLevel=”1.1”
”strong=”c/3027|��/�������/�� x-morph=”OSHM:HC/Ncbdc/Sp2fs” x-
cantillationLevel=”1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”3988 a” x-morph=”OSHM:HVqp3ms”
”strong=”3068|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/4009|��/�����������/��� x-morph=”OSHM:HR/Ncmpc/Sp2fs”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”6743|����������� b” x-morph=”OSHM:HVhi2fs” x-cantillationLevel=”0.0”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”�

3 ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.1.1”
”strong=”2005|���� x-morph=”OSHM:HTm” ”strong=”7971|����������
x-morph=”OSHM:HVpi3ms” ”strong=”376|������ x-morph=”OSHM:HNcmsa”

”strong=”853|��� x-morph=”OSHM:HTo”���/��������|strong=”802”
x-morph=”OSHM:HNcfsc/Sp3ms” ”strong=”c/1980|��������/�� x-morph=”OSHM:HC/Vqq3fs”
”strong=”m/854|��/�����/�� x-morph=”OSHM:HR/R/Sp3ms” x-cantillationLevel=”1.1.1.0”
”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq3fs” ”strong=”l/376|�����/��
x-morph=”OSHM:HR/Ncmsa”�������|strong=”312” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1.1” ”strong=”i/7725|��������/�� x-morph=”OSHM:HTi/Vqi3ms”
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”strong=”413|���/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.0”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” x-cantillationLevel=”1.0.0” ”strong=”2610|�������
x-morph=”OSHM:HVqa” ”strong=”2610|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1.0” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”1”
strong=”c/859|������/�� c” x-morph=”OSHM:HC/Pp2fs” x-cantillationLevel=”0.1.1”
”strong=”2181|������� x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”0.1.0”
”strong=”7453|������� x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0.1” ”strong=”c/7725|������/��
x-morph=”OSHM:HC/Vqa” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”���������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 2 ”strong=”5375|�������
x-morph=”OSHM:HVqv2fs”��/���������|strong=”5869 a” x-morph=”OSHM:HNcbdc/Sp2fs”
strong=”5921|��� a” x-morph=”OSHM:HR”����������|strong=”8205”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.1.0” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2fs” x-cantillationLevel=”1.2.1” ”strong=”375|�������
x-morph=”OSHM:HTi” x-cantillationLevel=”1.2.0” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”7693|���� x-morph=”OSHM:HVPp2fs” x-
wType=”x-ketiv” 12 strong=”5921|��� a” x-morph=”OSHM:HR”�����������|strong=”1870”
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1.0” ”strong=”3427|�����������
x-morph=”OSHM:HVqp2fs” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” strong=”k/6163|��������/��� a” x-morph=”OSHM:HR/Ngmsa”
x-cantillationLevel=”1.0” strong=”b/4057|����������/��� b” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/2610|������������/�� x-morph=”OSHM:HC/Vhw2fs”
”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
”strong=”b/2184|��/����������/��� x-morph=”OSHM:HR/Ncfpc/Sp2fs”
x-cantillationLevel=”0.0” strong=”c/b/7451|��/�������/��/�� c” x-morph=”OSHM:HC/R/Ncfsc/Sp2fs”
x-cantillationLevel=”0”� 3 ”strong=”c/4513|������������/�� x-morph=”OSHM:HC/VNw3mp”
”strong=”7241|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
”strong=”c/4456|����������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”3808|����� x-morph=”OSHM:HTn” ”strong=”1961|������ x-
morph=”OSHM:HVqp3ms” x-cantillationLevel=”1” ”strong=”c/4696|������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”802|�������� x-morph=”OSHM:HNcfsa”
”strong=”2181|������� x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”0.1.0”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1” ”strong=”3985|����������
x-morph=”OSHM:HVpp2fs” x-cantillationLevel=”0.0” ”strong=”3637|���������
x-morph=”OSHM:HVNc” x-cantillationLevel=”0”� 4 ”strong=”i/3808|�����/��
x-morph=”OSHM:HTi/Tn” ”strong=”m/6258|�������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.1” ”strong=”7121|����� x-morph=”OSHM:HVqp2fs”
x-wType=”x-ketiv” 13 ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-

12+ ”strong=”7901|���������������� x-morph=”OSHM:HVPp2fs” x-
cantillationLevel=”1.2”
13+ ”strong=”7121|������������ x-morph=”OSHM:HVqp2fs”
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cantillationLevel=”1.0” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”441|�������� a” x-morph=”OSHM:HNcmsc”
strong=”5271|�/������� a” x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”0.0”
strong=”859|������� a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0”�
5 ”strong=”i/5201|��������/�� x-morph=”OSHM:HTi/Vqi3ms” ”strong=”l/5769|�������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1” strong=”518|��� a”
x-morph=”OSHM:HC”����������|strong=”8104” x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”1.0” ”strong=”l/5331|������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”1696|����� x-morph=”OSHM:HVpp1cs” x-wType=”x-ketiv” 14 15
Yathir readings in L which we have designated as Qeres when both Dothan and
BHS list a Qere. strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqw2fs”
strong=”d/7451|�������/�� a” x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”0.0”
”strong=”c/3201|��������/�� x-morph=”OSHM:HC/Vqw2ms” x-cantillationLevel=”0”�
� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.1” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” x-cantillationLevel=”1.2.0” ”strong=”2977|�������������
x-morph=”OSHM:HNp” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”i/7200|��������/��� x-morph=”OSHM:HTi/Vqp2ms”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|��������� a” x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0”
”strong=”4878|��������� x-morph=”OSHM:HNcfsa” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”1980|��������
x-morph=”OSHM:HVqrfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.0.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”�����|strong=”2022” x-morph=”OSHM:HNcmsa”
”strong=”1364|��������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0.1”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”��������|strong=”8478”
x-morph=”OSHM:HR” x-cantillationLevel=”0.0.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”�����|strong=”6086” x-morph=”OSHM:HNcmsa”
strong=”7488|�������� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.0”
”strong=”c/2181|��������/�� x-morph=”OSHM:HC/Vqw2fs”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”0”� 7 ”strong=”c/559|������/��
x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.0.1” strong=”310|��������
a” x-morph=”OSHM:HR” strong=”6213|��/��������� a” x-morph=”OSHM:HVqc/Sp3fs”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”1.0.0” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” ”strong=”7725|��������� x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”1.0” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”7725”
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1” ”strong=”c/7200|����/�
x-morph=”OSHM:HC/Vqw3fs” x-wType=”x-ketiv” 16 ”strong=”901|����������
14+ ”strong=”1696|���������������� x-morph=”OSHM:HVpp2fs” x-
cantillationLevel=”0.0.0”
15y
16+ ”strong=”c/7200|�������/������/� x-morph=”OSHM:HC/Vqw3fs” x-
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x-morph=”OSHM:HAafsa” ”strong=”269|��/�������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 8 ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.2.2” strong=”3588|����� a” x-morph=”OSHM:HC”
strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”182”
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5003|��������� x-morph=”OSHM:HVpp3fs”
x-cantillationLevel=”1.2.0” ”strong=”4878|��������� x-morph=”OSHM:HNcfsa”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”7971|��/������������� x-morph=”OSHM:HVpp1cs/Sp3fs” x-
cantillationLevel=”1.1” ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”5612
a” x-morph=”OSHM:HNcmsc” ”strong=”3748|��/������������ x-morph=”OSHM:HNcfpc/Sp3fs”
x-cantillationLevel=”1.0” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”3372|��������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.1.0.0”
”strong=”898|���������� x-morph=”OSHM:HVqrfsa” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”269|��/��������
x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0” ”strong=”c/2181|�������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”1571|���� x-morph=”OSHM:HTa”������|strong=”1931”
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0”� 9 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”1.1.0” strong=”m/6963|�����/��
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”2184|��/�������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”c/2610|���������/�� x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/5003|���������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/68”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����/���|strong=”d/6086” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 10 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”���/����|strong=”b/3605”
x-morph=”OSHM:HR/Ncmsc”������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”1.0.1” ”strong=”3808|��� x-morph=”OSHM:HTn”��������|strong=”7725”
x-morph=”OSHM:HVqp3fs” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0.0.0” ”strong=”901|���������� x-morph=”OSHM:HAafsa”
”strong=”269|��/�������� x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”1.0.0”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��/�������|strong=”3820
a” x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” strong=”3588|�����
b” x-morph=”OSHM:HC” strong=”518|��� b” x-morph=”OSHM:HC”�������/����|strong=”b/8267”
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 11 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”

cantillationLevel=”0.0.0”
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”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1”
”strong=”6663|��������� x-morph=”OSHM:HVpp3fs” ”strong=”5315|��/��������
x-morph=”OSHM:HNcbsc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”4878|���������
x-morph=”OSHM:HNcfsa” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”m/898|���������/�� x-morph=”OSHM:HR/Vqrfsa”
x-cantillationLevel=”0.0” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 12 ”strong=”1980|������� x-morph=”OSHM:HVqa”
x-cantillationLevel=”1.1.1.1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1.1.0” ”strong=”6828|�/�������� x-morph=”OSHM:HNcfsa/Sd”
x-cantillationLevel=”1.1.1” ”strong=”c/559|���������/��� x-morph=”OSHM:HC/Vqq2ms”
x-cantillationLevel=”1.1.0.0” ”strong=”7725|�/������� x-morph=”OSHM:HVqv2ms/Sh”
”strong=”4878|��������� x-morph=”OSHM:HNcfsa” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”3808|����� x-morph=”OSHM:HTn”���������|strong=”5307”
x-morph=”OSHM:HVhi1cs” ”strong=”6440|�/������ x-morph=”OSHM:HNcbpc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”2623”
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”strong=”4864|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”7451|������ c”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0” ”strong=”8259|�����������
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281



CONTENTS 43
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x-cantillationLevel=”0.1.0” ”strong=”c/5927|��������/�� x-morph=”OSHM:HC/Vqh1cp”
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60 CONTENTS

strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”l/2723|���������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0” ”strong=”1961|���������
x-morph=”OSHM:HVqi3fs” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”�8 ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/��

x-morph=”OSHM:HTd/Pp3fs” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.1.2” ”strong=”c/3318|�����/�

x-morph=”OSHM:HC/Vhi3mp” x-wType=”x-ketiv” 36 ”strong=”853|��� x-
morph=”OSHM:HTo”����������|strong=”6106” x-morph=”OSHM:HNcfpc”
”strong=”4428|�������� x-morph=”OSHM:HNcmpc”����������|strong=”3063”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������|strong=”6106”
x-morph=”OSHM:HNcfpc”��/�������|strong=”8269” x-morph=”OSHM:HNcmpc/Sp3ms”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������|strong=”6106”
x-morph=”OSHM:HNcfpc” ”strong=”d/3548|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.0.1.1” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.0.1.0” � ”strong=”6106|��������� x-morph=”OSHM:HNcfpc”
”strong=”d/5030|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To” x-cantillationLevel=”0.0.0”
”strong=”6106|��������� x-morph=”OSHM:HNcfpc” ”strong=”3427|����������
x-morph=”OSHM:HVqrmpc”��������������|strong=”3389” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”m/6913|����/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”0”� 2 ”strong=”c/7849|��/��������/�� x-morph=”OSHM:HC/Vqq3cp/Sp3mp”
”strong=”l/8121|���������/�� x-morph=”OSHM:HRd/Ncbsa” ”strong=”c/l/3394|��������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-cantillationLevel=”1.2.2.1” ”strong=”c/l/3605|����/��/��
x-morph=”OSHM:HC/R/Ncmsc” x-cantillationLevel=”1.2.2.0” � strong=”6635|������
a” x-morph=”OSHM:HNcbsc” ”strong=”d/8064|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.2” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”157|�/�������� x-morph=”OSHM:HVqp3cp/Sp3mp” x-cantillationLevel=”1.2.1.0”
strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr” ”strong=”5647|��/�������
x-morph=”OSHM:HVqp3cp/Sp3mp” x-cantillationLevel=”1.2.1” strong=”c/834|�������/���
a” x-morph=”OSHM:HC/Tr” x-cantillationLevel=”1.2.0” ”strong=”1980|��������
x-morph=”OSHM:HVqp3cp” strong=”310|����/�������� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2” strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr”
”strong=”1875|�/���������� x-morph=”OSHM:HVqp3cp/Sp3mp” x-cantillationLevel=”1.1”
strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr” ”strong=”7812|���������������
x-morph=”OSHM:HVvp3cp” x-cantillationLevel=”1.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”622|����������� x-morph=”OSHM:HVNi3mp”
x-cantillationLevel=”0.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”6912|����������� x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0.1”
”strong=”l/1828|������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440” x-
morph=”OSHM:HNcbpc” ”strong=”d/127|��������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”1961|��������� x-morph=”OSHM:HVqi3mp”
36+ ”strong=”3318|���������������/� x-morph=”OSHM:HVhi3mp”



CONTENTS 61

x-cantillationLevel=”0”� 3 ”strong=”c/977|��������/�� x-morph=”OSHM:HC/VNq3ms”
”strong=”4194|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
strong=”m/2416|��������/��� e” x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.2”
”strong=”l/3605|����/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.1.1”
”strong=”d/7611|�����������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0”
”strong=”d/7604|�������������/�� x-morph=”OSHM:HTd/VNrmpa” x-
cantillationLevel=”1.1” strong=”4480|��� a” x-morph=”OSHM:HR”�������������/���|strong=”d/4940”
x-morph=”OSHM:HTd/Ncfsa” strong=”d/7451|������/��� a” x-morph=”OSHM:HTd/Aafsa”
x-cantillationLevel=”1.0” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”����������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/7604|�������������/�� x-
morph=”OSHM:HTd/VNrmpa” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5080|�/������������ x-morph=”OSHM:HVhp1cs/Sp3mp”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.1” ”strong=”5002|������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0”� � 4 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqq2ms”
”strong=”413|����/����� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.1”
”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”i/5307|���������/�� x-morph=”OSHM:HTi/Vqi3mp”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”6965|��������� b” x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1”
strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”7725” x-
morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”7725|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 5 ”strong=”4069|��������� x-morph=”OSHM:HTi”
”strong=”7725|���������� x-morph=”OSHM:HVop3fs” x-cantillationLevel=”1.0.0.0”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0.0” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”4878|���������
x-morph=”OSHM:HNcfsa” ”strong=”5329|��������� x-morph=”OSHM:HVNsfsa”
x-cantillationLevel=”1” ”strong=”2388|������������ x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”0.1.0” strong=”b/8649|����������/��� b” x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.1” ”strong=”3985|�������� x-morph=”OSHM:HVpp3cp”
x-cantillationLevel=”0.0” ”strong=”l/7725|������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 6 ”strong=”7181|�������������� x-morph=”OSHM:HVhp1cs”
”strong=”c/8085|���������/��� x-morph=”OSHM:HC/Vqw1cs” x-cantillationLevel=”1.2.0”
”strong=”3808|���� x-morph=”OSHM:HTn”�����|strong=”3651 a” x-morph=”OSHM:HAamsa”
”strong=”1696|����������� x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1.2”
”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” ”strong=”5162|������ x-morph=”OSHM:HVNsmsa”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”7451
c” x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” ”strong=”4100|����
x-morph=”OSHM:HTi” strong=”6213|���������� a” x-morph=”OSHM:HVqp1cs”



62 CONTENTS

x-cantillationLevel=”1” ”strong=”3605|�/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”7725|����� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.1.0” ”strong=”b/4794|�/�����/� x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-wType=”x-ketiv” 37 strong=”k/5483|�����/��� b” x-morph=”OSHM:HR/Ncmsa”
”strong=”7857|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”b/4421|�����������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0”�
7 ”strong=”1571|���� x-morph=”OSHM:HTa”����������|strong=”2624”
x-morph=”OSHM:HNcfsa” ”strong=”b/8064|����������/�� x-morph=”OSHM:HRd/Ncmda”
x-cantillationLevel=”1.2.1” ”strong=”3045|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.2.0” ”strong=”4150|��/���������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1.2” ”strong=”c/8449|����/�� x-morph=”OSHM:HC/Ncbsa”
strong=”c/5483|���/� a” x-morph=”OSHM:HC/Ncmsa” x-wType=”x-ketiv”
38 ”strong=”c/5693|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.1”
39 We read one or more accents in L differently than BHS. Often this nota-
tion indicates a typographical error in BHS. ”strong=”8104|��������� x-
morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”�����|strong=”6256” x-morph=”OSHM:HNcbsc” ”strong=”935|���/������
x-morph=”OSHM:HVqc/Sp3fp” x-cantillationLevel=”1” strong=”c/5971|�/������/��
a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-cantillationLevel=”0.2” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”4941|���������� x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 8 strong=”349|�������
b” x-morph=”OSHM:HTi” ”strong=”559|���������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”1.1.0” ”strong=”2450|��������� x-morph=”OSHM:HAampa”
”strong=”587|���������� x-morph=”OSHM:HPp1cp” x-cantillationLevel=”1.1”
”strong=”c/8451|�������/�� x-morph=”OSHM:HC/Ncfsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”854|���/������
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1” ”strong=”403|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”l/8267|��������/�� x-morph=”OSHM:HRd/Ncmsa”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1”
”strong=”5842|���� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”8267|������� x-morph=”OSHM:HNcmsc” strong=”5608|���������
b” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� 9 ”strong=”954|����������
x-morph=”OSHM:HVhp3cp” ”strong=”2450|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.1” ”strong=”2865|������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”c/3920|������������/�� x-morph=”OSHM:HC/VNw3mp”
x-cantillationLevel=”1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”b/1697|�����/�� x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”3988|��������
37+ ”strong=”b/4794|�/�����������/����/�����/� x-
morph=”OSHM:HR/Ncfsc/Sp3mp” x-cantillationLevel=”0.1”
38+ strong=”c/5483|�����/�����/� a” x-morph=”OSHM:HC/Ncmsa” x-
cantillationLevel=”1.1.0”
39c



CONTENTS 63

a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1” ”strong=”c/2451|��������/��
x-morph=”OSHM:HC/Ncfsc”�����|strong=”4100” x-morph=”OSHM:HTi”
x-cantillationLevel=”0.0” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� � 10 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
”strong=”5414|������� x-morph=”OSHM:HVqi1cs” ”strong=”853|��� x-
morph=”OSHM:HTo”����/�������|strong=”802” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”1.2.1.0” ”strong=”l/312|���������/�� x-morph=”OSHM:HR/Aampa”
x-cantillationLevel=”1.2.1” strong=”7704|����/���������� b” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.2.0” ”strong=”l/3423|������������/�� x-morph=”OSHM:HR/Vqrmpa”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”m/6996|�������/��
b” x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”1.1.0” ”strong=”c/5704|���/��
x-morph=”OSHM:HC/R”���������|strong=”1419 a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.1” ”strong=”3605|�/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”1214|�������� x-morph=”OSHM:HVqrmsa”
”strong=”1215|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”m/5030|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”��������|strong=”3548”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”3605|�/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsa” ”strong=”8267|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 11 ”strong=”c/7495|���������/�� x-morph=”OSHM:HC/Vpw3mp”
x-cantillationLevel=”1.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”7667”
x-morph=”OSHM:HNcmsc” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”��/������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”7043” x-morph=”OSHM:HVNsfsa”
x-cantillationLevel=”1.1” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.0” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
� ”strong=”7965|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” x-cantillationLevel=”0.0”
”strong=”7965|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”3001|��������� x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”8441|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” strong=”6213|�������
a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1” ”strong=”1571|����
x-morph=”OSHM:HTa”��������|strong=”954” x-morph=”OSHM:HVqa”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”954”
x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.1” ”strong=”c/3637|���������/��
x-morph=”OSHM:HC/VNc” x-cantillationLevel=”0.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1” strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”0.0.1.0” ”strong=”5307|��������� x-morph=”OSHM:HVqi3mp”
”strong=”b/5307|����������/�� x-morph=”OSHM:HRd/Vqrmpa” x-cantillationLevel=”0.0.1”
”strong=”b/6256|����/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”6486|�/�����������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.0.0” ”strong=”3782|������������
x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”0.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”



64 CONTENTS

x-cantillationLevel=”0”� � 13 ”strong=”622|������ x-morph=”OSHM:HVqa”
”strong=”5486|�/�������� x-morph=”OSHM:HVhi1cs/Sp3mp” x-cantillationLevel=”1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”���������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”369|����� x-morph=”OSHM:HTn”
”strong=”6025|��������� x-morph=”OSHM:HNcmpa” ”strong=”b/1612|�������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1.1.0” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”8384|���������� x-morph=”OSHM:HNcfpa”
”strong=”b/8384|���������/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1.1”
”strong=”c/d/5929|������/���/�� x-morph=”OSHM:HC/Td/Ncmsa” x-
cantillationLevel=”0.1.0” strong=”5034|������ b” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1” ”strong=”c/5414|�������/�� x-morph=”OSHM:HC/Vqw1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
strong=”5674|�/���������� a” x-morph=”OSHM:HVqi3mp/Sp3mp” x-
cantillationLevel=”0”� 14 strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”4100”
x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.0” ”strong=”587|����������
x-morph=”OSHM:HPp1cp” ”strong=”3427|����������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.1” ”strong=”622|����������� x-morph=”OSHM:HVNv2mp”
x-cantillationLevel=”1.0.1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqh1cp”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”5892
b” x-morph=”OSHM:HNcfpc” ”strong=”d/4013|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”c/1826|��������/�� a” x-morph=”OSHM:HC/Vqh1cp”�������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” ”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” strong=”1826|����/�������� a” x-
morph=”OSHM:HVhp3ms/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”c/8248|���/���������/��
x-morph=”OSHM:HC/Vhw3ms/Sp1cp” ”strong=”4325|��� x-morph=”OSHM:HNcmpc”�������|strong=”7219”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2398|��������� x-morph=”OSHM:HVqp1cp”
x-cantillationLevel=”0.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 15 strong=”6960|������� a” x-morph=”OSHM:HVpv2ms”
”strong=”l/7965|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” strong=”2896|�����
b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1” ”strong=”l/6256|����/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4832|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”1205|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
16 ”strong=”m/1835|�����/�� x-morph=”OSHM:HR/Np” ”strong=”8085|���������
x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.1.2” strong=”5170|��������
b” x-morph=”OSHM:HNcfsc” strong=”5483|�/������� b” x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.1.1” strong=”m/6963|������/�� a” x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.1.0” ”strong=”4684|����������� x-morph=”OSHM:HNcfpc”
”strong=”47|�/���������� x-morph=”OSHM:HAampc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”7493|��������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”c/935|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.1” ”strong=”c/398|�����������/��



CONTENTS 65

x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0” ”strong=”776|������
x-morph=”OSHM:HNcbsa” ”strong=”c/4393|��/��������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs”
x-cantillationLevel=”0.1” strong=”5892|����� b” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqrmpc”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”�
� 17 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”2005|����/����
x-morph=”OSHM:HTm/Sp1cs” ”strong=”7971|����������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1.1.1.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1.1” ”strong=”5175|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.0” strong=”6848|����������� b” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”369|���� x-morph=”OSHM:HTn”����/���|strong=”l” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”3908|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”c/5391|����������/�� a” x-morph=”OSHM:HC/Vpq3cp”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 18 ”strong=”4010|�/��������������
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.0” strong=”5921|������
a” x-morph=”OSHM:HR” ”strong=”3015|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
”strong=”1742|������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”�
19 ”strong=”2009|������ x-morph=”OSHM:HTm”������|strong=”6963
a” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.1.0” ”strong=”7775|����������
x-morph=”OSHM:HNcfsc” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.1” ”strong=”m/776|�������/��
x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.2.0” ”strong=”4801|������������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2” ”strong=”i/3068|������/���
x-morph=”OSHM:HTi/Np” x-cantillationLevel=”1.1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”��/���������|strong=”4428”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”b|��/���� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1” ”strong=”4069|��������� x-morph=”OSHM:HTi”
x-cantillationLevel=”0.0.1” ”strong=”3707|���/���������� x-morph=”OSHM:HVhp3cp/Sp1cs”
x-cantillationLevel=”0.0.0” ”strong=”b/6456|����/�������/��� x-morph=”OSHM:HR/Ncmpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”b/1892|��������/��� x-morph=”OSHM:HR/Ncmpc”
”strong=”5236|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
20 strong=”5674|������ a” x-morph=”OSHM:HVqp3ms” strong=”7105|�������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”3615|�������
x-morph=”OSHM:HVqp3ms” ”strong=”7019|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/587|����������/�� x-morph=”OSHM:HC/Pp1cp”
x-cantillationLevel=”0.0” ”strong=”3808|����� x-morph=”OSHM:HTn” ”strong=”3467|������������
x-morph=”OSHM:HVNp1cp” x-cantillationLevel=”0”� 21 strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”7667” x-morph=”OSHM:HNcmsc”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”�/�������|strong=”5971



66 CONTENTS

a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”7665|���������������
x-morph=”OSHM:HVHp1cs” x-cantillationLevel=”1” ”strong=”6937|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.1” ”strong=”8047|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”2388|���/�����������
x-morph=”OSHM:HVhp3fs/Sp1cs” x-cantillationLevel=”0”� 22 ”strong=”d/6875|������/��
x-morph=”OSHM:HTi/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”b/1568|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”�������|strong=”7495”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.1”
”strong=”4069|���������� x-morph=”OSHM:HTi” x-cantillationLevel=”0.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5927|���������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.1” ”strong=”724|��������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0” ”strong=”1323|���� x-
morph=”OSHM:HNcfsc”�/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 23 40 KJV:Jer.9.1 ”strong=”4310|���� x-morph=”OSHM:HTi”��������|strong=”5414”
x-morph=”OSHM:HVqi3ms” strong=”7218|��/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”4325|������ x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” strong=”c/5869|�/������/�� a” x-morph=”OSHM:HC/Ncbsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”4726|������� x-morph=”OSHM:HNcmsc”
”strong=”1832|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”c/1058|���������/�� x-morph=”OSHM:HC/Vqh1cs” x-cantillationLevel=”0.1.0”
”strong=”3119|������� x-morph=”OSHM:HD” ”strong=”c/3915|��������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”0.0” strong=”2491|���������
a” x-morph=”OSHM:HAampc” ”strong=”1323|��� x-morph=”OSHM:HNcfsc”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”�9 41 KJV:Jer.9.2 ”strong=”4310|���� x-morph=”OSHM:HTi”���/���������|strong=”5414”

x-morph=”OSHM:HVqi3ms/Sp1cs” strong=”b/4057|����������/��
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2.1” ”strong=”4411|�������

x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.2.0” ”strong=”732|����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.2” strong=”c/5800|�����������/��
a” x-morph=”OSHM:HC/Vqh1cs” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqh1cs”
x-cantillationLevel=”1.0” ”strong=”m/854|�/������/��� x-morph=”OSHM:HR/R/Sp3mp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3605|��/�����
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”5003|������������
x-morph=”OSHM:HVprmpa” x-cantillationLevel=”0.1” ”strong=”6116|��������
x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.0” ”strong=”898|����������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0”� 2 42 KJV:Jer.9.3 ”strong=”c/1869|�����������/���

40+
41+
42+



CONTENTS 67

x-morph=”OSHM:HC/Vhw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”3956”
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”7198|�/���������
x-morph=”OSHM:HNcfsc/Sp3mp” ”strong=”8267|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”l/530|���������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”1.0”
”strong=”1396|��������� x-morph=”OSHM:HVqp3cp” ”strong=”b/776|������/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” strong=”m/7451|������/�� c” x-morph=”OSHM:HR/Ncfsa”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”7451 c” x-morph=”OSHM:HNcfsa”
� ”strong=”3318|�������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0.0”
”strong=”c/853|�/�����/�� x-morph=”OSHM:HC/To/Sp1cs” ”strong=”3808|����
x-morph=”OSHM:HTn”���������|strong=”3045” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 3 43 KJV:Jer.9.4 ”strong=”376|������
x-morph=”OSHM:HNcmsa” ”strong=”m/7453|����/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”8104|������������ x-morph=”OSHM:HVNv2mp”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”�����|strong=”251” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”408|��� x-morph=”OSHM:HTn”������������|strong=”982”
x-morph=”OSHM:HVqj2mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”�����|strong=”251”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”6117|�������
x-morph=”OSHM:HVqa” ”strong=”6117|�������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”������|strong=”7453”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”7400|�������
x-morph=”OSHM:HNcmsa” ”strong=”1980|��������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0”� 4 44 KJV:Jer.9.5 ”strong=”c/376|������/�� x-
morph=”OSHM:HC/Ncmsa” ”strong=”b/7453|����/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1.0” strong=”2048|����������� b” x-morph=”OSHM:HVhi3mp”
x-cantillationLevel=”1.1” ”strong=”c/571|������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1696|�����������
x-morph=”OSHM:HVpi3mp” x-cantillationLevel=”1” ”strong=”3925|���������
x-morph=”OSHM:HVpp3cp” ”strong=”3956|�/��������� x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”0.0.0” ”strong=”1696|������� x-morph=”OSHM:HVpc”��������|strong=”8267”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” strong=”5753|��������
b” x-morph=”OSHM:HVha” ”strong=”3811|�������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”0”� 5 45 KJV:Jer.9.6 ”strong=”3427|���/��������
x-morph=”OSHM:HVqc/Sp2ms” x-cantillationLevel=”1.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”4820|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”b/4820|��������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”0.0.0” ”strong=”3985|�������� x-morph=”OSHM:HVpp3cp”
”strong=”3045|������ x-morph=”OSHM:HVqc”�/�������|strong=”853”

43+
44+
45+



68 CONTENTS

x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 6 46 KJV:Jer.9.7 strong=”l/3651|����/�� c” x-
morph=”OSHM:HR/D” x-cantillationLevel=”1.1.1” ”strong=”3541|�����
x-morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1”
”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs” ”strong=”6884|�/��������
x-morph=”OSHM:HVqrmsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”c/974|�/�����������/��
x-morph=”OSHM:HC/Vqq1cs/Sp3mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”349 a” x-morph=”OSHM:HTi”
strong=”6213|��������� a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.0”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0”� 7 47 KJV:Jer.9.8
”strong=”2671|���� x-morph=”OSHM:HNcmsa” strong=”7819|���� a” x-
morph=”OSHM:HVqrmsa” x-wType=”x-ketiv” 48 ”strong=”3956|�/���������
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”4820|��������
x-morph=”OSHM:HNcfsa” ”strong=”1696|������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”1” ”strong=”b/6310|�/����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
”strong=”854|��� x-morph=”OSHM:HR”����/������|strong=”7453” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”1696|���������
x-morph=”OSHM:HVpi3ms” x-cantillationLevel=”0.1” 49 ”strong=”c/b/7130|��/�������/��/��
x-morph=”OSHM:HC/R/Ncmsc/Sp3ms” x-cantillationLevel=”0.0” strong=”7760|��������
a” x-morph=”OSHM:HVqi3ms” ”strong=”696|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 8 50 KJV:Jer.9.9 strong=”i/5921|���/�� a” x-
morph=”OSHM:HTi/R”��������|strong=”428” x-morph=”OSHM:HPdxcp”
”strong=”3808|���� x-morph=”OSHM:HTn”��������|strong=”6485 a”
x-morph=”OSHM:HVqi1cs”�/�����|strong=”b” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”518|���� a” x-morph=”OSHM:HC”
x-cantillationLevel=”0.1.0” strong=”b/1471|�����/��� a” x-morph=”OSHM:HR/Ncmsa”
strong=”834|������ a” x-morph=”OSHM:HTr”����/����|strong=”k/2088”
x-morph=”OSHM:HR/Pdxms” x-cantillationLevel=”0.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5358|����������� x-morph=”OSHM:HVti3fs”
x-cantillationLevel=”0.0” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0”� � 9 51 KJV:Jer.9.10 strong=”5921|��� a” x-morph=”OSHM:HR”�������/����|strong=”d/2022”

46+
47+
48+ strong=”7819|������������ a” x-morph=”OSHM:HVqsmsa” x-
cantillationLevel=”1.0.0”
49c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.2.1.0” ”strong=”5375|��������
x-morph=”OSHM:HVqi1cs” ”strong=”1065|������ x-morph=”OSHM:HNcmsa”
”strong=”c/5092|������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.2.1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��������|strong=”4999”
x-morph=”OSHM:HNcfpc” strong=”4057|��������� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.2.0” ”strong=”7015|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3341|���������
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.1.0” ”strong=”m/1097|������/��
x-morph=”OSHM:HR/Ncmsc”�������|strong=”376” x-morph=”OSHM:HNcmsa”
strong=”5674|������ a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”8085|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” strong=”6963|�����
a” x-morph=”OSHM:HNcmsc” ”strong=”4735|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”m/5775|�����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/8064|�����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”����������|strong=”929”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”5074|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0” ”strong=”1980|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”� 10 52 KJV:Jer.9.11
”strong=”c/5414|���������/�� x-morph=”OSHM:HC/Vqq1cs” ”strong=”853|���
x-morph=”OSHM:HTo”��������������|strong=”3389” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”l/1530|��������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”4583|������� x-morph=”OSHM:HNcbsc”
strong=”8577|��������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������|strong=”5892
b” x-morph=”OSHM:HNcfpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”5414|������� x-morph=”OSHM:HVqi1cs”
strong=”8077|��������� a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”m/1097|�������/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”3427|��������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0”� � 11 53 KJV:Jer.9.12
”strong=”4310|���� x-morph=”OSHM:HTi”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2450|������/��� x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.1.0” ”strong=”c/995|������/�� x-morph=”OSHM:HC/Vqj3ms”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”2063” x-morph=”OSHM:HPdxfs”
x-cantillationLevel=”1.1” strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr”
”strong=”1696|�������� x-morph=”OSHM:HVpp3ms” ”strong=”6310|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/5046|��/��������/�� x-morph=”OSHM:HC/Vhi3ms/Sp3fs”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”�����|strong=”4100”
x-morph=”OSHM:HTi” x-cantillationLevel=”0.1.0” ”strong=”6|��������
x-morph=”OSHM:HVqp3fs” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”3341|��������� x-morph=”OSHM:HVNp3fs”
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strong=”k/4057|����������/�� b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”m/1097|�������/�� x-morph=”OSHM:HR/Ncmsc” strong=”5674|������
a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0”� � 12 54 KJV:Jer.9.13
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”5921|��� a” x-
morph=”OSHM:HR”��/�������|strong=”5800 a” x-morph=”OSHM:HVqc/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/�����������|strong=”8451”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5414|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1.0” ”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”8085”
x-morph=”OSHM:HVqp3cp” strong=”b/6963|�/������/�� a” x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”���������|strong=”1980”
x-morph=”OSHM:HVqp3cp” ”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 13 55 KJV:Jer.9.14 ”strong=”c/3212|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” strong=”310|��������
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”8307|����������
x-morph=”OSHM:HNcfsc” strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”1” strong=”c/310|��������/�� a” x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.1.0” strong=”d/1168|����������/�� a” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3925|�/��������� x-morph=”OSHM:HVpp3cp/Sp3mp” x-cantillationLevel=”0.0”
”strong=”1|�/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”�
� 14 56 KJV:Jer.9.15 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.1.1” ”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1.1.0” ”strong=”430|�������� x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs” ”strong=”398|�/����������
x-morph=”OSHM:HVhrmsc/Sp3mp” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.0”
”strong=”3939|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”c/8248|�/������������/�� x-morph=”OSHM:HC/Vhq1cs/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”4325|��� x-morph=”OSHM:HNcmpc”�������|strong=”7219”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 15 57 KJV:Jer.9.16 strong=”c/6327|��/�����������/��
a” x-morph=”OSHM:HC/Vhq1cs/Sp3mp” x-cantillationLevel=”1.2.0” strong=”b/1471|��������/���
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.2” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3045|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1” ”strong=”1992|������� x-morph=”OSHM:HPp3mp”
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x-cantillationLevel=”1.0” ”strong=”c/1|�/��������/��� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/7971|�������������/�� x-morph=”OSHM:HC/Vpq1cs”
strong=”310|����/�������� a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/2719”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” ”strong=”5704|����
x-morph=”OSHM:HR” ”strong=”3615|�/���������� x-morph=”OSHM:HVpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0”� � 16 58 KJV:Jer.9.17 ”strong=”3541|����� x-
morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.1.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1”
”strong=”995|��������������� x-morph=”OSHM:HVrv2mp” x-cantillationLevel=”1.0.0”
”strong=”c/7121|��������/�� x-morph=”OSHM:HC/Vqv2mp” ”strong=”l/6969|������������/��
x-morph=”OSHM:HRd/Vorfpa” x-cantillationLevel=”1.0” ”strong=”c/935|������������/��
x-morph=”OSHM:HC/Vqi3fp” x-cantillationLevel=”1” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”���������/���|strong=”d/2450” x-morph=”OSHM:HTd/Aafpa”
”strong=”7971|��������� x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”0.0”
”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vqi3fp” x-cantillationLevel=”0”�
17 59 KJV:Jer.9.18 strong=”c/4116|������������/�� a” x-morph=”OSHM:HC/Vpi3fp”
x-cantillationLevel=”1.1” ”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqi3fp”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1.0”
”strong=”5092|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/3381|����������/�� x-morph=”OSHM:HC/Vqi3fp” strong=”5869|����/�������
a” x-morph=”OSHM:HNcbdc/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”1832|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”c/6079|���/�����������/��
x-morph=”OSHM:HC/Ncmdc/Sp1cp” x-cantillationLevel=”0.0” ”strong=”5140|��������
x-morph=”OSHM:HVqi3mp”�������|strong=”4325” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� 18 60 KJV:Jer.9.19 strong=”3588|����� a” x-
morph=”OSHM:HC” strong=”6963|����� a” x-morph=”OSHM:HNcmsc” ”strong=”5092|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0” ”strong=”8085|���������
x-morph=”OSHM:HVNp3ms” ”strong=”m/6726|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” strong=”349|������ a” x-morph=”OSHM:HTi”
”strong=”7703|������������ x-morph=”OSHM:HVPp1cp” x-cantillationLevel=”1”
”strong=”954|����������� x-morph=”OSHM:HVqp1cp” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” strong=”3588|����� a”
x-morph=”OSHM:HC”�����������|strong=”5800 a” x-morph=”OSHM:HVqp1cp”
”strong=”776|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7993|������������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.0” ”strong=”4908|���/���������������
x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0”� � 19 61 KJV:Jer.9.20
strong=”3588|����� a” x-morph=”OSHM:HC”������������|strong=”8085”
x-morph=”OSHM:HVqv2fp” ”strong=”802|�������� x-morph=”OSHM:HNcfpa”
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x-cantillationLevel=”1.1.0” ”strong=”1697|������ x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/3947|�������/��
x-morph=”OSHM:HC/Vqi3fs” ”strong=”241|����/������ x-morph=”OSHM:HNcfsc/Sp2mp”
x-cantillationLevel=”1.0” ”strong=”1697|������ x-morph=”OSHM:HNcmsc”�/������|strong=”6310”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/3925|�����������/��
x-morph=”OSHM:HC/Vpv2fp” ”strong=”1323|����/��������� x-morph=”OSHM:HNcfpc/Sp2mp”
x-cantillationLevel=”0.1.0” ”strong=”5092|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfsa”
”strong=”7468|��/�������� x-morph=”OSHM:HNcfsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”7015|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
20 62 KJV:Jer.9.21 strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”5927”
x-morph=”OSHM:HVqp3ms” ”strong=”4194|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”b/2474|���/����������/��� x-morph=”OSHM:HR/Ncbpc/Sp1cp”
x-cantillationLevel=”1.1” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”b/759|���/�������������/��� x-
morph=”OSHM:HR/Ncmpc/Sp1cp” x-cantillationLevel=”1” ”strong=”l/3772|���������/��
x-morph=”OSHM:HR/Vhc” ”strong=”5768|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”m/2351|�����/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”970|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”m/7339|���������/�� x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”0”� 21 63 KJV:Jer.9.22 ”strong=”1696|�������� x-
morph=”OSHM:HVpv2ms” x-cantillationLevel=”1.2.1” ”strong=”3541|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0” ”strong=”5002|����� x-
morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/5307|���������/�� x-morph=”OSHM:HC/Vqq3fs”
x-cantillationLevel=”1.1.0” ”strong=”5038|�������� x-morph=”OSHM:HNcfsc”
”strong=”d/120|������/��� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”k/1828|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440” x-
morph=”OSHM:HNcbpc” strong=”d/7704|��������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/k/5995|�������/��/�� x-morph=”OSHM:HC/R/Ncmsa”
x-cantillationLevel=”0.0.0” strong=”m/310|��������/�� a” x-morph=”OSHM:HR/R”
strong=”d/7114|�������/�� b” x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.0”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”622|���������
x-morph=”OSHM:HVprmsa” x-cantillationLevel=”0”� � 22 64 KJV:Jer.9.23
”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.1.0”
� ”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”408|��� x-morph=”OSHM:HTn”������������|strong=”1984
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b” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”5203|������������
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x-morph=”OSHM:HVqc/Sp1cs” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
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x-cantillationLevel=”0.0.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
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cantillationLevel=”0.0” ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsa”
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x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1.2.0” strong=”2416|���
a” x-morph=”OSHM:HAamsa”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
”strong=”3925|��������� x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”5971 a” x-
morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”l/7650|�����������/��
x-morph=”OSHM:HR/VNc” x-cantillationLevel=”1.0” strong=”b/1168|�������/���
a” x-morph=”OSHM:HRd/Np” x-cantillationLevel=”1” ”strong=”c/1129|��������/��
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x-morph=”OSHM:HR/Ncmsc” strong=”5971|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
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x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1” ”strong=”c/5428|�������������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”0.0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/1471 a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.0.0”
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x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” strong=”c/7760|��/��������/��
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x-morph=”OSHM:HAofsa” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 4 ”strong=”3947|���� x-morph=”OSHM:HVqv2ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/232”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7069|�������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5921|��� a” x-morph=”OSHM:HR”��/���������|strong=”4975”
x-morph=”OSHM:HNcmdc/Sp2ms” x-cantillationLevel=”1” strong=”c/6965|�����/��
b” x-morph=”OSHM:HC/Vqv2ms” x-cantillationLevel=”0.1.0” ”strong=”3212|�����
x-morph=”OSHM:HVqv2ms” ”strong=”6578|�/�������� x-morph=”OSHM:HNp/Sd”
x-cantillationLevel=”0.1” ”strong=”c/2934|���/�������/�� x-morph=”OSHM:HC/Vqv2ms/Sp3ms”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”b/5357|�������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/5553|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 5 ”strong=”c/3212|�������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1” ”strong=”c/2934|���/���������/�� x-morph=”OSHM:HC/Vqw1cs/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”b/6578|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
x-cantillationLevel=”0.0.0” ”strong=”6680|������� x-morph=”OSHM:HVpp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”853|�/������ x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”0”�
6 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1”
”strong=”m/7093|�����/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1.0” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.2.1” strong=”6965|����� b” x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”0.2.0” ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
”strong=”6578|�/�������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0.2”
”strong=”c/3947|����/�� x-morph=”OSHM:HC/Vqv2ms” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” x-cantillationLevel=”0.1.0” ”strong=”853|��� x-
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x-cantillationLevel=”1.2” ”strong=”c/2658|���������/�� x-morph=”OSHM:HC/Vqw1cs”
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x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/����|strong=”d/232”
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a” x-morph=”OSHM:HR”��������/���|strong=”d/4725” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”�/������������|strong=”2934”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”413|�/�����
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x-cantillationLevel=”0”� 9 ”strong=”3541|����� x-morph=”OSHM:HD”
x-cantillationLevel=”1.0” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”3602|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.0.0.1”
”strong=”7843|���������� x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”0.0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”1347” x-
morph=”OSHM:HNcmsc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������|strong=”1347”
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read one or more accents in L differently than BHS. Often this notation indicates
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x-cantillationLevel=”0.0.2.0” ”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”
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79q
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108 CONTENTS

”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”341|����/�������
x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 10 ”strong=”188|����� x-morph=”OSHM:HTj”�/����|strong=”l”
x-morph=”OSHM:HR/Sp1cs” ”strong=”517|�/������ x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3205|���/����������
x-morph=”OSHM:HVqp2fs/Sp1cs” x-cantillationLevel=”1.0.1” ”strong=”376|������
x-morph=”OSHM:HNcmsc” ”strong=”7379|����� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0.0” ”strong=”c/376|������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”4066|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn”�����������|strong=”5383” x-morph=”OSHM:HVqp1cs”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”5383”
x-morph=”OSHM:HVqp3cp”�/����|strong=”b” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3605|�/������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”7043|���/���������� x-morph=”OSHM:HVprmpc/Sp1cs” x-cantillationLevel=”0”�
� 11 ”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”8293|�/���� x-morph=”OSHM:HVqp1cs/Sp2ms”
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strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”1540|�����������
x-morph=”OSHM:HVhp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.1.0” ”strong=”8033|�/������� x-morph=”OSHM:HD/Sd”
x-cantillationLevel=”1.1” ”strong=”c/6419|��������������/�� x-morph=”OSHM:HC/Vtv2mp”
”strong=”1157|��/������� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”b/7965|��/���������/��
x-morph=”OSHM:HR/Ncmsc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”1961|��������
x-morph=”OSHM:HVqi3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 8 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”3541|���� x-morph=”OSHM:HD” ”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”408|��� x-morph=”OSHM:HTn”������������|strong=”5377”
x-morph=”OSHM:HVhj3mp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0.0” ”strong=”5030|����/��������� x-morph=”OSHM:HNcmpc/Sp2mp”
strong=”834|������ a” x-morph=”OSHM:HTr”����/�������/����|strong=”b/7130”
x-morph=”OSHM:HR/Ncmsc/Sp2mp” x-cantillationLevel=”1.0” ”strong=”c/7080|����/��������/��
x-morph=”OSHM:HC/Vqrmpc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/408|����/��
x-morph=”OSHM:HC/Tn”�������������|strong=”8085” x-morph=”OSHM:HVqj2mp”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”����/�����������|strong=”2472”
x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”0.0” strong=”2492|����������� b” x-morph=”OSHM:HVhrmpa”
x-cantillationLevel=”0”� 9 strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”b/8267|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1”
”strong=”1992|���� x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1.0.0”
”strong=”5012|���������� x-morph=”OSHM:HVNrmpa” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0” ”strong=”b/8034|�/������/���
x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7971|�/������������ x-morph=”OSHM:HVqp1cs/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 10 strong=”3588|�����
a” x-morph=”OSHM:HC”�����|strong=”3541” x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”3588|����� a”
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x-morph=”OSHM:HC” x-cantillationLevel=”1.0.0.1” ”strong=”l/6310|����/��
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0.0.0” ”strong=”4390|�������
x-morph=”OSHM:HVqc” ”strong=”l/894|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0.0” ”strong=”7657|���������� x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
strong=”6485|�������� a” x-morph=”OSHM:HVqi1cs” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1” strong=”c/6965|����������/��
b” x-morph=”OSHM:HC/Vhq1cs” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”1697”
x-morph=”OSHM:HNcmsc/Sp1cs” strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.2” ”strong=”l/7725|��������/�� x-morph=”OSHM:HR/Vhc”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.1”
”strong=”413|��� x-morph=”OSHM:HR”��������/���|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”� 11 strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”595|�������� x-morph=”OSHM:HPp1cs”
”strong=”3045|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������/���|strong=”d/4284”
x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.0.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”595|�������� x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.0.0” ”strong=”2803|������� x-morph=”OSHM:HVqrmsa”
strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”4284|������������
x-morph=”OSHM:HNcfpc” ”strong=”7965|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
strong=”l/7451|������/�� c” x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1”
”strong=”l/5414|����/�� x-morph=”OSHM:HR/Vqc” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0” ”strong=”319|���������
x-morph=”OSHM:HNcfsa” strong=”c/8615|��������/�� b” x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0”� 12 ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqq2mp”
”strong=”853|��/���� x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”c/1980|�����������/��� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.1”
”strong=”c/6419|�����������������/�� x-morph=”OSHM:HC/Vtq2mp”
x-cantillationLevel=”1.0” ”strong=”413|�/����� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/8085|������������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”0.0” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0”� 13 ”strong=”c/1245|�������������/�� x-morph=”OSHM:HC/Vpq2mp”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.0”
”strong=”c/4672|���������/�� x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1875|���/����������
x-morph=”OSHM:HVqi2mp/Sp1cs” x-cantillationLevel=”0.0” ”strong=”b/3605|���/���
x-morph=”OSHM:HR/Ncmsc”����/�������|strong=”3824” x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”0”� 14 ”strong=”c/4672|�����������/�� x-morph=”OSHM:HC/VNq1cs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.1.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”853|��� x-morph=”OSHM:HTo”��/�����|strong=”7622”
x-morph=”OSHM:HNcfsc/Sp2mp” x-wType=”x-ketiv” 121 ”strong=”c/6908|������������/��
x-morph=”OSHM:HC/Vpq1cs” ”strong=”853|���/����� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.0.1.1” ”strong=”m/3605|����/��� x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.0.1.0” ”strong=”c/m/3605|����/��/��
x-morph=”OSHM:HC/R/Ncmsc”�����������/���|strong=”d/4725” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”5080|������������ x-morph=”OSHM:HVhp1cs” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.0.0” ”strong=”8033|�����
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”5002|����� x-
morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/7725|�����������/�� x-morph=”OSHM:HC/Vhq1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.2”
”strong=”413|��� x-morph=”OSHM:HR”��������/����|strong=”d/4725”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” strong=”834|������
a” x-morph=”OSHM:HTr”������������|strong=”1540” x-morph=”OSHM:HVhp1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
”strong=”m/8033|������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”0”�
15 strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”1.0”
”strong=”559|����������� x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1”
strong=”6965|������� b” x-morph=”OSHM:HVhp3ms” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp1cp” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”5030|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”894|�/�������� x-morph=”OSHM:HNp/Sd”
x-cantillationLevel=”0”� � 16 strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”3541”
x-morph=”OSHM:HD” x-cantillationLevel=”1.2.2.0” � ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.2” ”strong=”413|��� x-morph=”OSHM:HR”���������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1” ”strong=”d/3427|���������/��
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.2.0” ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”3678” x-morph=”OSHM:HNcmsc”
”strong=”1732|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�����|strong=”3605” x-
morph=”OSHM:HNcmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”d/3427|���������/�� x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”1.0” strong=”b/5892|�����/��� b” x-morph=”OSHM:HRd/Ncfsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
”strong=”251|����/����� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”0.1”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”3318”
x-morph=”OSHM:HVqp3cp” ”strong=”854|����/����� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”b/1473|��������/��� x-morph=”OSHM:HRd/Ncfsa”

121+ ”strong=”7622|����/����������/���� x-morph=”OSHM:HNcfsc/Sp2mp” x-
cantillationLevel=”1.0.2”
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x-cantillationLevel=”0”� 17 ”strong=”3541|����� x-morph=”OSHM:HD”
”strong=”559|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.0”
”strong=”3068|������� x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.2” ”strong=”2005|����/����
x-morph=”OSHM:HTm/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”7971|�����������
x-morph=”OSHM:HVprmsa” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/2719”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/7458” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������/���|strong=”d/1698”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/5414|���������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0.1.1” ”strong=”k/8384|����������/��� x-morph=”OSHM:HRd/Ncfpa”
x-cantillationLevel=”0.1.0” ”strong=”d/8182|������������/�� x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|��� x-morph=”OSHM:HTn”�������������|strong=”398”
x-morph=”OSHM:HVNi3fp” x-cantillationLevel=”0.0” ”strong=”m/7455|�����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 18 ”strong=”c/7291|������������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”1.1.0” strong=”310|����/��������
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1” ”strong=”b/2719|������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”b/7458|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”c/b/1698|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/5414|�/���������/�� x-morph=”OSHM:HC/Vqq1cs/Sp3mp”
”strong=”l/2113|����/� x-morph=”OSHM:HR/Ncfsa” x-wType=”x-ketiv”
122 ”strong=”l/3605|����/�� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.1.1.0”
� ”strong=”4467|����������� x-morph=”OSHM:HNcfpc” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.1” ”strong=”l/423|������/��
x-morph=”OSHM:HR/Ncfsa” ”strong=”c/l/8047|��������/��/�� x-morph=”OSHM:HC/R/Ncfsa”
x-cantillationLevel=”0.1.0” ”strong=”c/l/8322|���������/��/�� x-morph=”OSHM:HC/R/Ncfsa”
”strong=”c/l/2781|���������/��/�� x-morph=”OSHM:HC/R/Ncfsa” x-
cantillationLevel=”0.1” ”strong=”b/3605|���/��� x-morph=”OSHM:HR/Ncmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�/�������������|strong=”5080” x-morph=”OSHM:HVhp1cs/Sp3mp”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0”� 19
”strong=”8478|������� x-morph=”OSHM:HR” x-cantillationLevel=”1.0.0”
strong=”834|������� a” x-morph=”OSHM:HTr”����|strong=”3808” x-
morph=”OSHM:HTn”����������|strong=”8085” x-morph=”OSHM:HVqp3cp”
”strong=”413|��� x-morph=”OSHM:HR”�/���������|strong=”1697” x-
morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”5002|�����
x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7971|������������ x-morph=”OSHM:HVqp1cs” ”strong=”413|����/�����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0.0” ”strong=”853|���

122+ ”strong=”l/2189|��������/������/� x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”0.1.1.1”
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x-morph=”OSHM:HTo”�/��������|strong=”5650” x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”d/5030|����������/�� x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1.0”
”strong=”7925|���������� x-morph=”OSHM:HVha” ”strong=”c/7971|��������/��
x-morph=”OSHM:HC/Vqa” x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”8085|������������ x-morph=”OSHM:HVqp2mp”
x-cantillationLevel=”0.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 20 strong=”c/859|�������/��
d” x-morph=”OSHM:HC/Pp2mp” x-cantillationLevel=”1.0” ”strong=”8085|���������
x-morph=”OSHM:HVqv2mp” ”strong=”1697|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/����|strong=”d/1473”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1” strong=”834|������
a” x-morph=”OSHM:HTr”��������������|strong=”7971” x-morph=”OSHM:HVpp1cs”
”strong=”m/3389|������������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”894|�/�������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0”�
� 21 ”strong=”3541|����� x-morph=”OSHM:HD”�������|strong=”559”
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.1.1.0”
”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”256”
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�����������|strong=”6964”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”��������������|strong=”6667” x-morph=”OSHM:HNp”
strong=”1121|��� a” x-morph=”OSHM:HNcmsc”�������������|strong=”4641”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”d/5012|�����������/���
x-morph=”OSHM:HTd/VNrmpa” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.0.0” ”strong=”b/8034|�/������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”8267|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”2005|����/���� x-morph=”OSHM:HTm/Sp1cs”
x-cantillationLevel=”0.1.1.0” � ”strong=”5414|������ x-morph=”OSHM:HVqrmsa”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”0.1.0”
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x-morph=”OSHM:HC/VNq3cp” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”���������|strong=”6440”
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.0” ”strong=”l/3420|���������/��
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x-morph=”OSHM:HVhp1cs/Sp2fs” x-cantillationLevel=”0.2.0” ”strong=”4148|�������
x-morph=”OSHM:HNcmsc” ”strong=”394|���������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.2” strong=”5921|���� a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.1.0” ”strong=”7230|���� x-morph=”OSHM:HNcbsc”
”strong=”5771|��/������� x-morph=”OSHM:HNcbsc/Sp2fs” x-cantillationLevel=”0.1”
strong=”6105|�������� a” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
strong=”2403|��/����������� b” x-morph=”OSHM:HNcfpc/Sp2fs” x-cantillationLevel=”0”�
15 ”strong=”4100|��� x-morph=”OSHM:HTi”����������|strong=”2199”
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��/���������|strong=”7667” x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”1.1” ”strong=”605|�������� x-morph=”OSHM:HAamsa”
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x-cantillationLevel=”0”� 16 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D”
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x-morph=”OSHM:HVNi3mp” x-cantillationLevel=”1.1” ”strong=”c/3605|���/��
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x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”l/6440|�/�����/��
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x-cantillationLevel=”1.1.1” ”strong=”c/4910|���/�������/�� x-morph=”OSHM:HC/Vqrmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”m/7130|��/��������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
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cantillationLevel=”1.3.0”
158k
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x-cantillationLevel=”0.1” ”+strong=”m/1008|������/�� x-morph=”OSHM:HR/Np”
”strong=”1008|���� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”4009|�/���������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0”� 14 strong=”349|������
a” x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.0” ”strong=”559|�����������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.1” ”strong=”1368|������������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0” ”strong=”587|����������
x-morph=”OSHM:HPp1cp” x-cantillationLevel=”1” ”strong=”c/376|��������/��
x-morph=”OSHM:HC/Ncmpc”�������|strong=”2428” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l/4421|�����������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 15 ”strong=”7703|�������� x-morph=”OSHM:HVPp3ms”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
strong=”c/5892|��/������/�� b” x-morph=”OSHM:HC/Ncfpc/Sp3fs” ”strong=”5927|������
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x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1” ”strong=”c/4005|��������/��
x-morph=”OSHM:HC/Ncmsc” ”strong=”970|�/����������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”3381|�������� x-morph=”OSHM:HVqp3cp”
”strong=”l/2874|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”5002|������ x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4428”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.0” ”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 16 ”strong=”7138|������� x-morph=”OSHM:HAamsa”
”strong=”343|���� x-morph=”OSHM:HNcmsc”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” strong=”c/7451|��/�������/��
c” x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”0.1” strong=”4116|��������
a” x-morph=”OSHM:HVpp3fs” x-cantillationLevel=”0.0” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”0”� 17 ”strong=”5110|������
x-morph=”OSHM:HVqv2mp” ”strong=”l|���/� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/����������|strong=”5439”
x-morph=”OSHM:HNcbpc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/3605|����/��
x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.0” ”strong=”3045|��������
x-morph=”OSHM:HVqrmpc” ”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”559|�������� x-morph=”OSHM:HVqv2mp”
x-cantillationLevel=”0.1.1” strong=”349|������� b” x-morph=”OSHM:HTi”
”strong=”7665|���������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.1.0”
”strong=”4294|������ x-morph=”OSHM:HNcmsc”�����|strong=”5797”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”4731|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”8597|�����������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 18 ”strong=”3381|������
x-morph=”OSHM:HVqv2fs” ”strong=”m/3519|��������/�� x-morph=”OSHM:HR/Ncbsa”
x-cantillationLevel=”1.1.0” ”strong=”3427|���� x-morph=”OSHM:HVqrmpc”
x-wType=”x-ketiv” 167 ”strong=”b/6772|�������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”3427|��������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”1.0” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”����������|strong=”1769”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC”��������|strong=”7703” x-morph=”OSHM:HVqrmsc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”5927|������ x-morph=”OSHM:HVqp3ms” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1” ”strong=”7843|�������
x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0.0” ”strong=”4013|��/�����������
x-morph=”OSHM:HNcmpc/Sp2fs” x-cantillationLevel=”0”� 19 ”strong=”413|���
x-morph=”OSHM:HR”���������|strong=”1870” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0.0” ”strong=”5975|�������� x-morph=”OSHM:HVqv2fs”
”strong=”c/6822|�������/�� x-morph=”OSHM:HC/Vpv2fs” x-cantillationLevel=”1.0”
”strong=”3427|���������� x-morph=”OSHM:HVqrfsc” ”strong=”6177|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”7592|��������
167+ ”strong=”c/3427|�������/������ x-morph=”OSHM:HC/Vqv2fs”
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x-morph=”OSHM:HVqv2fs”�����|strong=”5127” x-morph=”OSHM:HVqrmsa”
”strong=”c/4422|����������/�� x-morph=”OSHM:HC/VNsfsa” x-cantillationLevel=”0.1”
”strong=”559|�������� x-morph=”OSHM:HVqv2fs” x-cantillationLevel=”0.0”
”strong=”4100|��� x-morph=”OSHM:HTi”�������������|strong=”1961”
x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”0”� 20 ”strong=”3001|��������
x-morph=”OSHM:HVhp3ms” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”2865”
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0” ”strong=”3213|������
x-morph=”OSHM:HVhv2fs” x-wType=”x-ketiv” 168 � ”strong=”c/2199|����/�
x-morph=”OSHM:HC/Vqv2fs” x-wType=”x-ketiv” 169 ”strong=”5046|����������
x-morph=”OSHM:HVhv2mp” ”strong=”b/769|���������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7703|��������
x-morph=”OSHM:HVPp3ms” x-cantillationLevel=”0.0” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 21 ”strong=”c/4941|����������/��
x-morph=”OSHM:HC/Ncmsa” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”776”
x-morph=”OSHM:HNcbsc” ”strong=”d/4334|���������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”2473”
x-morph=”OSHM:HNp” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”�/��������|strong=”3096”
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”������|strong=”4158” x-morph=”OSHM:HNp”
x-wType=”x-ketiv” 170 � 22 strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”����������|strong=”1769”
x-morph=”OSHM:HNp” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”5015
a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”�������|strong=”1015+” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”1015|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 23 strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
”strong=”7156|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”1014+”
x-morph=”OSHM:HNp” ”strong=”1014|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�������|strong=”1010+”
x-morph=”OSHM:HNp” ”strong=”1010|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 24 strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����������|strong=”7152”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”����������|strong=”1224” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”c/5921|����/�� a” x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.1.1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�������|strong=”5892
b” x-morph=”OSHM:HNcfpc” x-cantillationLevel=”0.1.0” ”strong=”776|������
x-morph=”OSHM:HNcbsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”d/7350|���������/�� x-morph=”OSHM:HTd/Aafpa”
x-cantillationLevel=”0.0” ”strong=”c/d/7138|����������/��/�� x-morph=”OSHM:HC/Td/Aafpa”
x-cantillationLevel=”0”� 25 ”strong=”1438|����������� x-morph=”OSHM:HVNp3fs”
168+ ”strong=”3213|���������������� x-morph=”OSHM:HVhv2mp”
169+ ”strong=”c/2199|��������/�������/� x-morph=”OSHM:HC/Vqv2mp” x-
cantillationLevel=”1”
170+ ”strong=”4158|�������������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”
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x-cantillationLevel=”1.1.0” strong=”7161|������ a” x-morph=”OSHM:HNcbsc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/2220|��/������/�� x-morph=”OSHM:HC/Ncbsc/Sp3ms” x-cantillationLevel=”1.0”
”strong=”7665|������������ x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”1”
”strong=”5002|������ x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
26 ”strong=”7937|���/������������ x-morph=”OSHM:HVhv2mp/Sp3ms”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”1431|���������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”1” strong=”c/5606|������/�� a” x-morph=”OSHM:HC/Vqq3ms”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
strong=”b/6892|��/�����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”l/7814|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
”strong=”1571|���� x-morph=”OSHM:HTa”������|strong=”1931” x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 27 strong=”c/518|����/�� a” x-morph=”OSHM:HC/C”
x-cantillationLevel=”1.1.1.0” � ”strong=”3808|����� x-morph=”OSHM:HTn”
”strong=”d/7814|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.0” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”����������/����|strong=”b/1590”
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0” ”strong=”4672|�����
x-morph=”OSHM:HVNp3fs” x-wType=”x-ketiv” 171 strong=”3588|�����
a” x-morph=”OSHM:HC”�����/���|strong=”m/1767” x-morph=”OSHM:HR/Ncmsc”
”strong=”1697|��/�������� x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”b|��/���
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”5110|������������
x-morph=”OSHM:HVri2ms” x-cantillationLevel=”0”� 28 strong=”5800|��������
a” x-morph=”OSHM:HVqv2mp” strong=”5892|������� b” x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.1.0” ”strong=”c/7931|���������/�� x-morph=”OSHM:HC/Vqv2mp”
”strong=”b/5553|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”3427|��������� x-morph=”OSHM:HVqrmpc” x-cantillationLevel=”1.0”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqv2mp” ”strong=”k/3123|�������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1” ”strong=”7077|����������
x-morph=”OSHM:HVpi3fs” x-cantillationLevel=”0.0” ”strong=”b/5676|��������/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”6310|��� x-morph=”OSHM:HNcmsc”�������|strong=”6354”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 29 ”strong=”8085|�����������
x-morph=”OSHM:HVqp1cp” ”strong=”1347|������ x-morph=”OSHM:HNcmsc”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”1343|�������
x-morph=”OSHM:HAamsa” ”strong=”3966|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”1363|��/������� x-morph=”OSHM:HNcmsc/Sp3ms”
”strong=”c/1347|��/�������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms” x-

171+ ”strong=”4672|������������� x-morph=”OSHM:HVNp3ms” x-
cantillationLevel=”1”
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cantillationLevel=”0.0.0” ”strong=”c/1346|��/��������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/7312|����/�� x-morph=”OSHM:HC/Ncmsc”
strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
30 ”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”3045|������������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1.0” 172 We read one or
more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS. ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”5678|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�����|strong=”3651 a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”907|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3808|��� x-morph=”OSHM:HTn”�����|strong=”3651
a” x-morph=”OSHM:HAamsa” strong=”6213|������� a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0”� 31 strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”4124” x-morph=”OSHM:HNp”
”strong=”3213|��������� x-morph=”OSHM:HVhi1cs” x-cantillationLevel=”1.1”
”strong=”c/l/4124|�������/��/�� x-morph=”OSHM:HC/R/Np” ”strong=”3605|�/�������
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”2199|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”376”
x-morph=”OSHM:HNcmpc” ”+strong=”7025|����� x-morph=”OSHM:HNp”��������|strong=”7025”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1897|���������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0”� 32 ”strong=”m/1065|�������/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”3270|�������� x-morph=”OSHM:HNp”
”strong=”1058|�������� x-morph=”OSHM:HVqi1cs”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.2.0” ”strong=”d/1612|�������/��
x-morph=”OSHM:HTd/Ncbsa” ”strong=”7643|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”5189|���/�������������� x-morph=”OSHM:HNcfpc/Sp2fs”
x-cantillationLevel=”1.1.0” strong=”5674|�������� a” x-morph=”OSHM:HVqp3cp”
”strong=”3220|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”1.0.0” ”strong=”3220|����
x-morph=”OSHM:HNcmsc” ”strong=”3270|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”5060|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1” strong=”5921|��� a” x-morph=”OSHM:HR”��/�������|strong=”7019”
x-morph=”OSHM:HNcmsc/Sp2fs” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”��/����������|strong=”1210”
x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”0.0” ”strong=”7703|�������
x-morph=”OSHM:HVqrmsa” 173 We read one or more accents in L differ-
ently than BHS. Often this notation indicates a typographical error in BHS.
”strong=”5307|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
33 ”strong=”c/622|����������/�� x-morph=”OSHM:HC/VNp3fs” ”strong=”8057|���������
x-morph=”OSHM:HNcfsa” strong=”c/1524|�����/�� a” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0.0” ”strong=”m/3759|���������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/m/776|������/��/�� x-morph=”OSHM:HC/R/Ncbsc”

172c
173c
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”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/3196|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2.0”
”strong=”m/3342|��������/�� x-morph=”OSHM:HR/Ncmpa” strong=”7673|�������������
a” x-morph=”OSHM:HVhp1cs” x-cantillationLevel=”0.2” ”strong=”3808|����
x-morph=”OSHM:HTn”����������|strong=”1869” x-morph=”OSHM:HVqi3ms”
”strong=”1959|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
”strong=”1959|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”1959|������� x-
morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 34 ”strong=”m/2201|���������/��
x-morph=”OSHM:HR/Ncfsc” ”strong=”2809|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” ”strong=”5704|��� x-morph=”OSHM:HR”�����������|strong=”500”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” ”strong=”5704|��� x-
morph=”OSHM:HR”��������|strong=”3096” x-morph=”OSHM:HNp” x-
cantillationLevel=”1.2.0” ”strong=”5414|�������� x-morph=”OSHM:HVqp3cp”
strong=”6963|�/������ a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.2”
”strong=”m/6820|��������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0”
”strong=”5704|��� x-morph=”OSHM:HR”������������|strong=”2773”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”5697|��������
b” x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”7992|��������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.1.0” ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”4325”
x-morph=”OSHM:HNcmpc” ”strong=”5249|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”l/4923|�����������/�� x-morph=”OSHM:HR/Ncfpa”
x-cantillationLevel=”0.0” ”strong=”1961|�������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0”� 35 strong=”c/7673|�������������/�� a” x-
morph=”OSHM:HC/Vhq1cs” ”strong=”l/4124|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”5927|��������
x-morph=”OSHM:HVhrmsa” ”strong=”1116|������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” strong=”c/6999|���������/�� a” x-morph=”OSHM:HC/Vhrmsa”
x-cantillationLevel=”0.0” ”strong=”l/430|�/�������/�� x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 36 strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”1.2.0.0” strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”l/4124|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.2.0” ”strong=”k/2485|���������/��� x-morph=”OSHM:HR/Ncmpa”
”strong=”1993|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.2”
strong=”c/3820|��/�����/�� a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”376”
x-morph=”OSHM:HNcmpc” ”+strong=”7025|����� x-morph=”OSHM:HNp”��������|strong=”7025”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”k/2485|����������/���
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0” ”strong=”1993|��������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1” strong=”5921|��� a”
x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm” x-
cantillationLevel=”0.0.0” ”strong=”3502|�������� x-morph=”OSHM:HNcfsc”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”6|�������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”�
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37 strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3605|��� x-
morph=”OSHM:HNcmsc”�������|strong=”7218 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” ”strong=”7144|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”2206”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0” ”strong=”1639|���������
x-morph=”OSHM:HVqsfsa” x-cantillationLevel=”1” strong=”5921|���� a”
x-morph=”OSHM:HR” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”3027”
x-morph=”OSHM:HNcbda” x-cantillationLevel=”0.1.0” ”strong=”1417|���������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1” strong=”c/5921|���/��
a” x-morph=”OSHM:HC/R”�����������|strong=”4975” x-morph=”OSHM:HNcmda”
x-cantillationLevel=”0.0” ”strong=”8242|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 38 strong=”5921|���� a” x-morph=”OSHM:HR”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”1406”
x-morph=”OSHM:HNcmpc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”c/b/7339|��/����������/��/��
x-morph=”OSHM:HC/R/Ncfpc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”3605|�/�������
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”4553|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”�������������|strong=”7665”
x-morph=”OSHM:HVqp1cs” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.1” ”strong=”k/3627|������/���
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0.0” ”strong=”369|�����
x-morph=”OSHM:HTn”�������|strong=”2656” x-morph=”OSHM:HNcmsa”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 39 strong=”349|������
a” x-morph=”OSHM:HTi” ”strong=”2865|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.0” ”strong=”3213|���������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.1” strong=”349|������ a” x-morph=”OSHM:HTi”
x-cantillationLevel=”1.0.0” ”strong=”6437|������� x-morph=”OSHM:HVhp3ms”�������|strong=”6203”
x-morph=”OSHM:HNcmsa” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”954|������� x-morph=”OSHM:HVqc”
x-cantillationLevel=”1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”l/7814|�������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”c/l/4288|���������/��/��
x-morph=”OSHM:HC/R/Ncfsa” x-cantillationLevel=”0.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”�/����������|strong=”5439” x-morph=”OSHM:HNcbpc/Sp3ms”
x-cantillationLevel=”0”� � 40 strong=”3588|���� a” x-morph=”OSHM:HC”�����|strong=”3541”
x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”559|������ x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”k/5404|��������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”1675|�������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1”
”strong=”c/6566|�������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”3671|�/���������
x-morph=”OSHM:HNcfpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”4124” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 41 ”strong=”3920|����������� x-morph=”OSHM:HVNp3fs”
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x-cantillationLevel=”1.1.0” ”strong=”d/7152|�����������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.1” ”strong=”c/d/4679|����������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
x-cantillationLevel=”1.0” ”strong=”8610|������������ x-morph=”OSHM:HVNp3fs”
x-cantillationLevel=”1” ”strong=”c/1961|�����/���� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.1.0.1” strong=”3820|���� a” x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.1.0.0” ”strong=”1368|����������� x-morph=”OSHM:HAampc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/��
x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.1” strong=”k/3820|����/���
a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” strong=”6887|�������� c” x-morph=”OSHM:HVhrfsa”
x-cantillationLevel=”0”� 42 ”strong=”c/8045|���������/�� x-morph=”OSHM:HC/VNq3ms”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”m/5971|����/�� a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”1431|����������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0”� 43 ”strong=”6343|�������
x-morph=”OSHM:HNcmsa” ”strong=”c/6354|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1.0” strong=”c/6341|����/�� a” x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”1” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.0.0” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsc”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 44 ”strong=”d/5211|���/�
x-morph=”OSHM:HTd/Vqrmsa” 174WLC has this word divided as .���� 175
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”d/6343|��������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”5307|�������
x-morph=”OSHM:HVqi3ms” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/6354”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2” ”strong=”c/d/5927|������/���/��
x-morph=”OSHM:HC/Td/Vqrmsa” x-cantillationLevel=”1.1.0” strong=”4480|���
a” x-morph=”OSHM:HR”�������/���|strong=”d/6354” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” ”strong=”3920|��������� x-morph=”OSHM:HVNi3ms”
x-cantillationLevel=”1.0” strong=”b/6341|�����/��� a” x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”935”
x-morph=”OSHM:HVhi1cs” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”4124” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”8141|������� x-morph=”OSHM:HNcfsc”
”strong=”6486|�/����������� x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.0”
”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 45 ”strong=”b/6738|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”2809|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”5975|�������� x-morph=”OSHM:HVqp3cp”

174+
175+ *���� ”strong=”d/5127|�����/�� x-morph=”OSHM:HTd/Vqrmsa” x-
cantillationLevel=”1.2.0.0”
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x-cantillationLevel=”1.0” strong=”m/3581|������/�� b” x-morph=”OSHM:HR/Ncmsa”
”strong=”5127|������� x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”784” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0.2.1.0” ”strong=”3318|������ x-morph=”OSHM:HVqp3ms”
”strong=”m/2809|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.1”
”strong=”c/3852|���������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.2.0”
”strong=”m/996|������/�� x-morph=”OSHM:HR/R” ”strong=”5511|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/398|���������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.0” ”strong=”6285|�������
x-morph=”OSHM:HNcfsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/6936|��������/�� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”0.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”7588|�������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
46 ”strong=”188|���� x-morph=”OSHM:HTj”���/���|strong=”l” x-morph=”OSHM:HR/Sp2ms”
”strong=”4124|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”6|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0”
strong=”5971|��� a” x-morph=”OSHM:HNcmsc”����������|strong=”3645”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC”����������|strong=”3947” x-morph=”OSHM:HVPp3cp”
strong=”1121|���/������ a” x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”0.1.0”
strong=”b/7628|��������/��� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/1323|��/��������/�� x-morph=”OSHM:HC/Ncfpc/Sp2ms” x-
cantillationLevel=”0.0” ”strong=”b/7633|����������/��� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0”� 47 ”strong=”c/7725|����������/�� x-morph=”OSHM:HC/Vqq1cs”
”strong=”7622|������� x-morph=”OSHM:HNcfsc”��������|strong=”4124”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”b/319|���������/���
x-morph=”OSHM:HR/Ncfsc” ”strong=”d/3117|��������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”2008”
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”4941|����������
x-morph=”OSHM:HNcmsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� �49 strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”

”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.2.0”

”strong=”559|������ x-morph=”OSHM:HVqp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”i/1121|�������/��
a” x-morph=”OSHM:HTi/Ncmpa” ”strong=”369|����� x-morph=”OSHM:HTn”
x-cantillationLevel=”1.1.0” ”strong=”l/3478|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3423”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-
cantillationLevel=”1” ”strong=”4069|��������� x-morph=”OSHM:HTi”
x-cantillationLevel=”0.1.1” ”strong=”3423|������� x-morph=”OSHM:HVqp3ms”
”strong=”4428|��/������� x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”1410” x-morph=”OSHM:HNp”
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x-cantillationLevel=”0.1” strong=”c/5971|��/�����/�� a” x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”0.0” strong=”b/5892|�/������/��� b” x-morph=”OSHM:HR/Ncfpc/Sp3ms”
”strong=”3427|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0”�
2 strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.1.2.1”
”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”3117|�������
x-morph=”OSHM:HNcmpa” ”strong=”935|�������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”1.1.2.0” ”strong=”5002|����� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2” ”strong=”c/8085|�������������/���
x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.1.1.1” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”7237” x-morph=”OSHM:HNp” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”���������|strong=”5983” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” ”strong=”8643|���������� x-morph=”OSHM:HNcfsc”
”strong=”4421|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.1”
”strong=”c/1961|���������/�� x-morph=”OSHM:HC/Vqq3fs” x-cantillationLevel=”1.1.0”
”strong=”l/8510|����/�� x-morph=”OSHM:HR/Ncmsc” strong=”8077|���������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” ”strong=”c/1323|��/��������/��
x-morph=”OSHM:HC/Ncfpc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”b/784|�����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”3341|������������ x-morph=”OSHM:HVqi3fp”
x-cantillationLevel=”1” ”strong=”c/3423|�������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”3423”
x-morph=”OSHM:HVqrmpc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 3 ”strong=”3213|���������� x-morph=”OSHM:HVhv2fs”
”strong=”2809|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7703|���������
x-morph=”OSHM:HVPp3fs”�����|strong=”5857” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.3.1” ”strong=”6817|���������� x-morph=”OSHM:HVqv2fp”
x-cantillationLevel=”1.3.0” ”strong=”1323|�������� x-morph=”OSHM:HNcfpc”
”strong=”7237|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3”
”strong=”2296|���������� x-morph=”OSHM:HVqv2fp” ”strong=”8242|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2” ”strong=”5594|����������
x-morph=”OSHM:HVqv2fp” x-cantillationLevel=”1.1” strong=”c/7751|����������������/��
a” x-morph=”OSHM:HC/Vrv2fp” x-cantillationLevel=”1.0” ”strong=”b/1448|����������/���
x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”4428|��/������� x-morph=”OSHM:HNcmsc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”b/1473|��������/��� x-morph=”OSHM:HRd/Ncfsa”
”strong=”3212|������� x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.1”
”strong=”3548|�/��������� x-morph=”OSHM:HNcmpc/Sp3ms” ”strong=”c/8269|�/�������/��
x-morph=”OSHM:HC/Ncmpc/Sp3ms” x-cantillationLevel=”0.0” strong=”3162|����������
b” x-morph=”OSHM:HD” x-cantillationLevel=”0”� 4 ”strong=”4100|���
x-morph=”OSHM:HTi”���������������|strong=”1984 b” x-morph=”OSHM:HVti2fs”
x-cantillationLevel=”1.2.0” ”strong=”b/6010|���������/���� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.2” ”strong=”2100|���� x-morph=”OSHM:HVqrmsa”
”strong=”6010|��/������� x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.1”
”strong=”d/1323|�����/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
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”strong=”d/7728|������������/�� x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1”
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